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ﬁiﬁ% TERFOBHOEILADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREOHBERILNDOKRES
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 3.65 46.07 | =hdst | 0oo ~ 365|217 11.59 Zzh s 1.00 | 5.00 ~ 56.00 46.07 | =hS | 5.00 ~ 600|217 11.59
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 000 ~ 1.07 15.89 | =nst | 000 ~ 1.07|299 15.99 ZzhLs 1.00 | 5.00 ~ 56.00 15.89 | #nLst | 5,00 ~ 5.00 | 2.99 15.99
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 5.66 69.48 | Fnst | 000 ~ 556|201 10.76 ZzhnLst 1.00 | 5.00 ~ 7.08 69.48 | =nst | 6,00 ~ 708|201 10.76
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
st 1.00 | 000 ~ 622 65.11 | NS | 000 ~ 522|209 11.19 ZzhLs 1.00 | 5.00 ~ 7.06 65.11 | #nLs | 5,00 ~ 7.06|2.09 11.19
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.13 76.89 | EnS | 000 ~ 615 1.84 9.84 ZzhLs 1.00 | 5.00 ~ 7.19 76.89 | EnLUS | 600 ~ 719 | 1.84 9.84
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZzhnLst 1.00 | 0.00 ~ 6.51 82.08 | #nst | 000 ~ 651197 10.64 Zzhn st 1.00 | 5.00 ~ 857 82.08 | #ns | 5.00 ~ 857 |1.97 10.564
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ zh st ~ zhst ~ zh st ~




